|>

H o

=5 4Y/HIE o[0ix|

gi

L A RER| AE|O1| ojA!l Ogl

© HEINRICH KIPP WERK GmbH & Co. KG

My

=

AH|QIBA AE1.4401

9 0p2e|

oi0h U Fe £ OHE E2tAE

HH:

B2 A ASEX= HolA OB 2 AH8510d £of, x| E= FE0| =
2 =0|2 dx[E 5 U&Lch

Chst Cof ol Sl &AH 274X 7|2 S2ELCH 2 A HES
Sall F7I tH7|S0| YELICH SL 7| HZ27Is2 2, ZE H2EX
E e Uiz g 4 U,

Az ol ZatE aglo| EHAHRE YRIFLCE

£
TO{E E EHoM XS 2 &7|AH ELICt
(o]

HIEAE FHOIME S5 4

0|&:

+
2

N
= o

NS o ya oy 2t
oh >

x4
]

Nz oE
e x

=

10 0¥ oo HI

HU Ol OK |m
> %2 N

© 0 =y
021 03 H1 MM
g
=
T 2
o]
» k]
&
»¥
o
)]
fo
=
on
r
o

I oio
0lo mlo |
4r
Lt
o
r
ful

I
o
>

-
—_

ki J8

Ca
o

T O
2
1
o
ro
C
>
=
2
02
2
olo
fin
o}
»
rlo
OH
il
=
JO
[=)

Ir > 2

Zrzo0d

»V o> I 0t

0l0 u_['j
oy

03 03 | 02 0K
[T {1
0l 1> H1 0o

£H MY
1) Zo{ i
2) =Y

www.kipp.com - info@kipp.com 1/3



°
ALH XA Xl AEIO A XMOIAI
AU ESEX], AH|lA, Ho|A] Og
=N
® . o
- ) -
A
H
pl=]
b g
Y
6)]
_U\ — L
[~
Z= Q0o
AU EFZEX], A1 A FHolA O8]
FEHS Etel el EfY EH A BB1B2 D DID2 H H1 H2 H3 H4 H5H6 H7
7|2 =A
K1850.1102356044 PSS ZERR{E] 1960 32 54 495 50 4,5 359 31,1 45 305 255 14 33 23
K1850.1112356044 & ZEdR{E| 19 60 32 54 49,5 50 4,5 359 31,1 4,5 30,5 25,5 14 33 12,5

K1850.1102356055
K1850.1112356055
K1850.1002356044

of o o ol

11> 1> ]

S e ECAE R 19 60 32 54 49,5 50 4,5 359 31,1 4,5 305 255 14 33 23
FEE ECtAE X2 19 60 32 5,4 49,5 50 4,5 359 31,1 4,5 30,5 255 14 33 12,5
19 60 32 54 49,5 50 4,5 359 31,1 4,5 305 255 14 33 23

w>>> >
il

=
it}
o
>
0"
o
2
L]

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
ALH XA Xk A A XN
AU ESEX], AH|lA, Ho|A] Og
EZS 29
B EFQ]  S3Ef Ef EH A BB1B2 D DID2 H H1 H2 H3 H4 H5H6 H7
7|18 S
K1850.1012356044 B HIEZA ZEIR 2| 19 60 32 54 495 50 4,5 359 31,1 45 30,5 255 14 33 125
K1850.1002356055 B HIEZA FHUEH SRIAE X2| 19 60 32 54 49,5 50 4,5 359 31,1 4,5 30,5 255 14 33 23
K1850.1012356055 B  HIEZA FUE ERIAE XM2] 1960 32 54 49,5 50 4,5 359 31,1 45 30,5 255 14 33 12,5
FEHS L L1 L2 L3 F=X[Z=24(N) ElZIEst S=L0{ F7(mm) PNEE
F1
N
K1850.1102356044 41 56 11 86 850 100 2-12 M4x6
K1850.1112356044 41 56 11 86 850 100 12-22 M4x20
K1850.1102356055 41 56 11 86 850 100 2-12 M4x6
K1850.1112356055 41 56 11 86 850 100 12-22 M4x20
K1850.1002356044 41 56 11 86 850 100 2-12 M4x6
K1850.1012356044 41 56 11 86 850 100 12-22 M4x20
K1850.1002356055 41 56 11 86 850 100 2-12 M4x6
K1850.1012356055 41 56 11 86 850 100 12-22 M4x20

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



